Big Maths Beat That!: Teacher Notes

CLIC Challenge 10

Step Location in the CLIC framework Title of Step
Progress Drive Step No.
(@) Counting: Squiggleworth 2 (i) | can partition a 3d number
Q2 INN: Pim’s Addition 3 | can add thousands
Q3 INN: Doubling (wi.th crossing 10s) 3/3 | can double 2d numbers /
Halving | know half of 300, 500, 700, 900
Q4 INN: Jigsaw Numbers 3 | can find the missing piece to 100
Q5 Multipllyl;:r,:lg:; by 10 | can multiply whole numbers by 10 /
Dividing by 10 | can divide multiples of 10 by 10
Q6 Calc: + 25 | can solve any 2d + 2d
Q7 Calc: - 28 | can take any 2d number from 100
Qs Calc: = 17 | can use a tables frae?]:;?an;crIS? division fact (with
Q9 Column Methods: + 2 | can solve any 2d + 2d
Q10 Column Methods: - 2 | can solve any 2d - 2d
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(2) Double 46 is
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B 43 x 0=
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7000+ 3000 -
Half of 700 is
. B X 10 =
M0 - 0 =
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Half of 300 is
® 4 X 0 =
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(2) Double 39 is
3000+ 8000 = 78
Half of 500 is
11000 250
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(2) Double 37 is
5000+ 2000 = 74
Half of 64 is
7000 32
(5)
% X 10 =360
040 - 10 = 64
@00 -37= (8) 29+32 =
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(2) Double 46 is
H000+7000 - 02
Half of 300 is
11000 150
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6000+5000 - 56
11000 Half of 86 is
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15 X 10 = 230
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(2) Double 58 is
9000+ 9000 = 116
18000 Half of 900 is
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5T X 10 =370
0%0 - 10 = 68
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(2) Double 87 is \
8000+4000 - 174
Half of 68 is
12000 34
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45 X 10 = 450
@D100-23: | |@®16+32=
77 5r1
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Double 76 is
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Half of 700 is
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(2) Double 96 Is
5000+ 6000 - 192
Half of 64 is
11000 32
= %9 X 10 =390
520 « 10 = 32
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(2) Double 859 is
9000+ 32000 - 118
12000 Half of 300 is
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4 X 10 =410
270 + 10 = 27
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(2) Double 85 is
4000+5000 = 170
Half of 900 is
9000 450
(5)
50 X 10 =560
%40 -+ 10 = 84
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